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Question Number : 1 Question Id : 479548481 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
All the following are Antakarana Chatushtaya or Vritti except :

(1) Mana
(2) Buddhi
(3) Chitta
(4) Indriya

Options :

4795481921. 1
4795481922.2
4795481923. 3
4795481924. 4

Question Number : 1 Question Id : 479548481 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

4795481921. 1
4795481922.2
4795481923. 3
4795481924. 4

Question Number : 2 Question Id : 479548482 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Nyaya and Vaisheshika, the ‘“Tamas’ is :

(1) Guna
(2) Dravya
(3) Abhava

(4) Samavaya

Options :

4795481925. 1
4795481926. 2
4795481927. 3
4795481928. 4

Question Number : 2 Question Id : 479548482 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

4795481925. 1
4795481926. 2
4795481927. 3
4795481928. 4

Question Number : 3 Question Id : 479548483 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which suffix is in the word ‘Prakruti’ (Y&fd) ?
(1) Ktin (&)

(2) Ganch (¥=49)

(3)  An_ (317)
(4) Kwip (fm)
Options :

4795481929. 1
4795481930. 2



4795481931.3
4795481932. 4

Question Number : 3 Question Id : 479548483 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Tepfa’ IeE H S G T 27

(1) o
(2) ==
(3) %
(4) T
Options :

4795481929. 1
4795481930. 2
4795481931.3
4795481932. 4

Question Number : 4 Question Id : 479548484 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which Acharya has mentioned the ‘Krimi Aashaya” ?
(1) Charak

(2) Sushrut

(3) Sharangadhar

(4) Kashyapa

Options :

4795481933. 1
4795481934.2
4795481935. 3
4795481936. 4

Question Number : 4 Question Id : 479548484 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
4795481933. 1
4795481934.2

4795481935. 3
4795481936. 4

Question Number : 5 Question Id : 479548485 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to Sushruta Match List-I with List-IL.

List-I List-II

(A) Mansa dhatu kshaya (I)  Sira shaithilya

(B) Rakta dhatu kshaya () Dhamani shaithilya
(©) Majja dhatu kshaya (IIT) Sandhi shunyata
(D) Meda dhatu kshaya (IV) Asthi shunyata

Choose the correct answer from the options given below.
(1) (A)-D), B)-(I), (O-11D), (D)-(1V)

(2)  (A)-(D), B)-(D), (O)I), (D)-(IV)
(3)  (A)-(I), B)-(D), (O)-(TV), (D)~(IIT)
(4) (A0, (B)-(IT), (O)-(1V), (D)-(IIT)
Options :

4795481937. 1
4795481938. 2
4795481939. 3
4795481940. 4

Question Number : 5 Question Id : 479548485 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A1), (B)-(II), (O)-(11I), (D)-(IV)
(2)  (A)-D), B)-([D), (O)-11I), (D)-(IV)
(3)  (A)-D), B)-([), (O)-1V), (D)-I)
(4)  (A)-(), (B)-(II), (O)-(IV), (D)~(III)

Options :

4795481937. 1
4795481938.2
4795481939. 3
4795481940. 4

Question Number : 6 Question Id : 479548486 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

According to Acharya Charaka following are Srotas and their moola.

Assertion (A) : Mutravahanam Srotasa-Vastirmulam Vankshnau cha

Reason (R) : Medo vahanam Srotasa-Medomoolam lomakupashcha

In the light of the above statements, choose the most appropriate answer from the options given
below.

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

4795481941. 1
4795481942. 2
4795481943. 3
4795481944. 4

Question Number : 6 Question Id : 479548486 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

4795481941. 1
4795481942.2
4795481943. 3
4795481944. 4

Question Number : 7 Question Id : 479548487 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which amongst of the following is related to “Cisterna Chyli” ?
(1) Central Nervous system
(2) Spleen
(3) Lymphatic system
(4) Bone marrow

Options :

4795481945. 1
4795481946. 2
4795481947. 3
4795481948. 4



Question Number : 7 Question Id : 479548487 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frfafga & & ““famemn Fht” @ i =0 27
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Options :

4795481945. 1
4795481946. 2
4795481947. 3
4795481948. 4

Question Number : 8 Question Id : 479548488 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Sushruta Samhita, in Timir and Akshipaka, Siravedha must be done in which of the

follow'mg sites ?

(A) Near Nose
(B) Lalata

(C) Apanga
(D) Talu

(E) Shankha

Choose the correct answer from the options given below.
(1) (B), (E) and (D)

(2) (D) (B) and (A)
(3)  (A) (E) and (C)
(4) (A) (B) and (C)
Options :

4795481949. 1
4795481950. 2
4795481951. 3
4795481952. 4

Question Number : 8 Question Id : 479548488 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

4795481949. 1
4795481950. 2
4795481951. 3
4795481952. 4

Question Number : 9 Question Id : 479548489 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List-I with List-II.

List-I List-11

(A) Duct of Wirsung (I)  Small Intestine

(B) Ligamentum Teres (II) Pancreas

(C) Brunner’s glands (III) Liver

(D) Goblet cells (IV) Large Intestine

Choose the correct answer from the options given below.

(1) (A)(), (B)(I), (©-AV), (D)-(1)

(2) (A1), B)-), ©-(1, (D)-IV)
(3)  (A)-IV), (B)-D), (O)-), (D)-(Im)
(4) (A1), (B)-(I), (O)-1V), (D)-(I0)

Options :

4795481953. 1
4795481954.2
4795481955. 3
4795481956. 4

Question Number : 9 Question Id : 479548489 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-(10), (B)-(1D), (O)-(IV), (D)-(D)
(2)  (A)-(1D), (B)-(ITD), (O)-(I), (D)-(IV)
(3)  (A)-1V), (B)-(I), (O)-(II), (D)~(IIT)
(4) (A1), (B}-(IT), (O)-(1V), (D)~(IIT)

Options :

4795481953. 1
4795481954. 2
4795481955. 3
4795481956. 4

Question Number : 10 Question Id : 479548490 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per Vagbhata complete the shloka.
Adanam

(1) Soumyam

(2) Agneyam

(3) Brihmanam

(4) Snigdham

Options :

4795481957. 1
4795481958. 2
4795481959. 3
4795481960. 4

Question Number : 10 Question Id : 479548490 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

4795481957. 1
4795481958.2
4795481959. 3
4795481960. 4

Question Number : 11 Question Id : 479548491 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match List-I with List-II as per Astangahridaya Dravya and its Anupana.

List-I List-II
(Dravya) (Anupana)
(A) Yava (I)  Sheeta Jala
(B) Krusha (II) Madya
(©) Pistha Padartha (III) Mastu
(D) Harita Shaka (IV) Ushna Jala

Choose the correct answer from the options given below.
(1) (A)-V), (B)-(ID), (O)-(I11), (D)-[0)

(2) (A1), (B)-(ID), (C)-(ID), (D)-(IV)
(3) (A0, (B)-(II), (O)-(1V), (D)-(II)
(4)  (A)-(D), (B)-), (©)-(1V), (D)-()

Options :

4795481961. 1
4795481962. 2
4795481963. 3
4795481964. 4

Question Number : 11 Question Id : 479548491 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1)  (A)-(V), (B)-(II), (C)-(1I), (D)-()
(2)  (A)-(D), (B)-(III), (O)-(1I), (D)-(IV)
(3)  (A)-(D), (B)}-(I0), (O)-1V), (D)~(III)
(4) (A)-(D), (B)-(II), (C)-IV), (D)-1)
Options :

4795481961. 1
4795481962. 2
4795481963. 3
4795481964. 4

Question Number : 12 Question Id : 479548492 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to Ashtangahridaya, which of the following symptoms is observed during Kapha Kshaya.
(1) Sangnya

(2) Prabha Hani

(3) Krishangata

(4) Hruddrava

Options :

4795481965. 1
4795481966. 2
4795481967. 3
4795481968. 4

Question Number : 12 Question Id : 479548492 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) &=
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Options :

4795481965. 1
4795481966. 2
4795481967. 3
4795481968. 4

Question Number : 13 Question Id : 479548493 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the author of “Hridaya Deepika Nighantu” ?
(1) Vaidyacharya Kesava

(2) Trimalla Bhatta

(3) Shivadatta Mishra

(4) Bopadeva

Options :

4795481969. 1
4795481970. 2
4795481971. 3
4795481972. 4

Question Number : 13 Question Id : 479548493 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7 <iftent frave % S &1 AW A ?
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Options :
4795481969. 1

4795481970. 2
4795481971. 3



4795481972. 4

Question Number : 14 Question Id : 479548494 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“Tapasvini” is the synonym of which of the following herb ?
(1) Gandha Prasarini
(2) Kustha
(3) Jatamansi

(4) Madanphala

Options :

4795481973. 1
4795481974.2
4795481975. 3
4795481976. 4

Question Number : 14 Question Id : 479548494 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(2) 33
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Options :

4795481973. 1
4795481974. 2
4795481975. 3
4795481976. 4

Question Number : 15 Question Id : 479548495 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per Acharya Chakradatta and YogaRatnakar, for preparation of Triphala, Haritaki, Vibhitaki
and Amlaki should be added in the ratio of :

(1 4:1:1
2) 1:2:4
3) 1:2:1
4) 2:1:1

Options :

4795481977. 1
4795481978. 2
4795481979. 3
4795481980. 4

Question Number : 15 Question Id : 479548495 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

4795481977. 1
4795481978. 2
4795481979. 3
4795481980. 4

Question Number : 16 Question Id : 479548496 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following plants is NOT mentioned in Jeevaniya Mahakashaya of Charak
Sambhita ?

(1) Mudgaparni

(2) Prishnaparni

(3) Mashaparni

(4) Yashtimadhu

Options :

4795481981. 1
4795481982.2
4795481983. 3
4795481984. 4

Question Number : 16 Question Id : 479548496 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) FEmf

(2) e

(3)  wragefi
(4) Fmy
Options :

4795481981. 1
4795481982.2
4795481983. 3
4795481984. 4

Question Number : 17 Question Id : 479548497 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I e UgAGTHRY Amongst the following which fruit is called as HIgeTga ?
(1) Karanja
(2) Madanaphala
(3) Dhattura
(4) Pippali

Options :



4795481985. 1
4795481986. 2
4795481987. 3
4795481988. 4

Question Number : 17 Question Id : 479548497 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) chtedt

(2) HETRA

(3) &

(4) focaeft
Options :

4795481985. 1
4795481986. 2
4795481987. 3
4795481988. 4

Question Number : 18 Question Id : 479548498 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

L 1 1 ﬂ :??

According to Acharya Bhavaprakasha, the above mentioned group of drugs is called as :
(1) Madhyama Panchamula

(2) Jeevaniya Panchamula

(3) Panchavalkala

(4) Pachapallava

Options :

4795481989. 1
4795481990. 2
4795481991. 3
4795481992. 4

Question Number : 18 Question Id : 479548498 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
4795481989. 1

4795481990. 2
4795481991. 3
4795481992. 4

Question Number : 19 Question Id : 479548499 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements.

Statement I : Chaturjataka are Pippali, Maricha, Shunthi, Nagakesara.

Statement II : Chaturbeeja are Methika, Chandrasura, Krishnajeerak and Yavanika.

In the light of the above statements, choose the correct answer from the options given below.
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

3)

(

(4) Statement I is false but Statement II is true

Statement I is true but Statement II is false

Options :

4795481993. 1
4795481994. 2
4795481995. 3
4795481996. 4

Question Number : 19 Question Id : 479548499 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

4795481993. 1
4795481994. 2
4795481995. 3
4795481996. 4

Question Number : 20 Question Id : 479548500 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nighantus and their narrated No. of Vargas.

(A) Dhanwantari Nighantu - 9 Vargas

(B) Madhava Dravyaguna - 29 Vargas

(C) Shodhala Nighantu - 27 Vargas

(D) Dravyaguna Sangraha - 11 Vargas

(E) Madanpala Nighantu - 13 Vargas

Choose the correct answer from the options given below.
(1) (A), (B), (O), (D) Only

(2)  (A) (B), (O), (D), (E) Only

(3)  (B), (C), (E) Only

4) (&) (O), (E) Only

Options :
4795481997. 1



4795481998. 2
4795481999. 3
4795482000. 4

Question Number : 20 Question Id : 479548500 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) gra-att fevg - 9 &t

(B) HIYT VT - 29 &
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Options :
4795481997. 1
4795481998. 2
4795481999. 3
4795482000. 4

Question Number : 21 Question Id : 479548501 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Raj Nighantu, Herbs mentioned in Chaturbhadraka are :

(A) Shunthi
(B) Guduchi
(C) Ativisha
(D) Eranda

Choose the most appropriate answer from the options given below.
(1) (B), (©), (D) Only

(2)  (A), (D) Only

(3) (©), (D) Only

(4)  (A), (B), (C) Only

Options :

4795482001. 1
4795482002. 2
4795482003. 3
4795482004. 4

Question Number : 21 Question Id : 479548501 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS feve & STER, Iq4E® 8 S ° 557 27
(A) Ut
(B) g

(C) Afafam
(D) wus
fra for o foemedi @ adt S 1 == FifS)

(1) %aa (B), (O), (D)
(2) & (A), (D)
(3) % (O), (D)
(4) &9 (A), (B), (O

Options :

4795482001. 1
4795482002. 2
4795482003. 3
4795482004. 4

Question Number : 22 Question Id : 479548502 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-IL

List-I List-II

(Plant Name) (Family)
(A) Shigru (I)  Fabaceae
(B) Palasha (II) Anacardaceae
(C) Bhallataka (IlI) Moringaceae
(D) Jyotishmati (IV) Celastraceae

Choose the correct answer from the options given below.
(1) (A)-1D), (B)-(1), (O)-1V), (D)-(IL)

(2)  (A)-(), (B)-(T), (C)-II), (D)-(IV)
(3)  (A)-1V), (B)-(II), (C)-(III), (D)-(D)
(4)  (A)-1D), (B)-(D), (O)-11), (D)-(IV)
Options :

4795482005. 1
4795482006. 2
4795482007. 3
4795482008. 4

Question Number : 22 Question Id : 479548502 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 gt-11
(A) fag (D) e
(B) Udm () SFTHSH!
(C) YeaTdsh (ITT) A
(D) Sorfeege (IV) Hieregmt
H= fou o fompeai @ wdt ST 1 = Hifs)
(1) (A)-1D), (B)-(D), (O)-IV), (D)-(IIT)
(2)  (A)-(10), (B)-(D), (CO)-(1I), (D)-(IV)
(3)  (A)-(1V), (B)-(IT), (C)-(IL), (D)-(T)
(4)  (A)-(D), (B)-(D), (O)-(), (D)-(IV)
Options :

4795482005. 1
4795482006. 2
4795482007. 3
4795482008. 4

Question Number : 23 Question Id : 479548503 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Sushruta Match List-I with List-IL.

List-I List-II
(Vishaguna) (Karma)
(A) Laghu (I)  Marmachinna
(B) Aashu (I) Shariravayava Pravesh
(C) Teekshna (III) Duschikitsya
(D) Sukshma (IV) Shighraprana Naasha

Choose the correct answer from the options given below.
(1) (A)-1D), (B)-(1), (O)-(1I), (D)-(IV)

(2)  (A)D), (B)-(I), (O-1V), (D))

(3)  (A)-I), (B)-(IV), (O-1), (D)-(I)

(4) (A1, (B)-1V), (O-1), (D)-{1)

irosarons.

4795482010. 2

4795482011. 3
4795482012. 4

o

Question Number : 23 Question Id : 479548503 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gA-1 -1
(fawmon) (%H)
(A) @ () =
(B) &M (I) SHEaTa o
(C) e (1) gfafreea
(D) H&H (IV)  SfersmoET
H fo M faseat @ wdl I 1 =9 HifT
(1) (A)-1D), (B)-(D), (O)-11), (D)-(IV)
(2)  (A)-D), (B)-(ID), (O)-(IV), (D)-(IIT)
(3)  (A)-(ITD), ( )( V), (O)-(0), (D)-(I)
(4) (A1), (B)-(IV), (O)-(I0), (D)-(T)
Options :

47954820009. 1
4795482010. 2
4795482011. 3
4795482012. 4

Question Number : 24 Question Id : 479548504 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-IL
List-1 List-I1

(A) IPC 304B (I)  Adultery

(B) IPC 44 (II) Dowry Death
(C) IPC 497 (III) Murder

(D) IPC 300 (IV) Injury

Choose the correct answer from the options given below.
(1) (A)-D), B)-1), (O-1V), (D)-(I1)
(2) (A1), (B)-(), (O-11), (D)-AV

(A)-(1 ¥ )
(3)  (A)-(I), (B)-(T), (C}-(1V), (D)-(I0)
(4)  (A)-I), B)-(IV), (C)-(T), (D)-(IIT)

Options :

4795482013. 1
4795482014. 2
4795482015. 3
4795482016. 4

Question Number : 24 Question Id : 479548504 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



get-1 & gE-11 & gafea Fifem|

-1 qHt-11
(A) oW 304B ) =ER
(B) T 44 (I) @&t &
(C) omr 497 (III) e
(D) & 300 (V) @fd

e feu o famedt # @ @dt I w1 =T HifS

(1) (A)-D), B)-(D), (O)-(1V), (D)~(I1)
(2) (A1), (B)-(IT), (C)-(1I), (D)-(IV)
(3) (A1), (B)-(D), (C)-(1V), (D)-(IT)
(4)  (A)-(D), (B)-(IV), (O)-(1), (D)~(II)
Options :

4795482013. 1
4795482014. 2
4795482015. 3
4795482016. 4

Question Number : 25 Question Id : 479548505 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cherry Red Colour in Post-mortem staining is a feature of poisoning with :
(1) Aniline

(2) Phosphorus

(3) Carbon monoxide

(4) Nitrites

Options :

4795482017. 1
4795482018. 2
4795482019. 3
4795482020. 4

Question Number : 25 Question Id : 479548505 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frfeiaa formes femererar o ““dreeardn R % SR’ = g wor fomdr 27
(1) uRfa

(2) R,

(3) A HAISTHETES

(4) EgIReH

Options :

4795482017. 1
4795482018. 2
4795482019. 3
4795482020. 4

Question Number : 26 Question Id : 479548506 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following book is NOT included in the first schedule of the Drug and Cosmetic Act
1940 ?

(1) Brihat Nighantu Ratnakar
(2) Bheshaja Samhita

(3) Kupipakwa Rasayana

(4) Vaidya Jivanam

Options :

4795482021. 1
4795482022.2
4795482023. 3
4795482024. 4

Question Number : 26 Question Id : 479548506 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

freiffiad §f § 9 0 T o7 we B e 1940 B TEeh s §F e A€ 2
(1) & fevg

(2) Hust ggar

(3) i e

(4) 9 Sy

Options :

4795482021. 1
4795482022.2
4795482023. 3
4795482024. 4

Question Number : 27 Question Id : 479548507 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
As per Rasa Jala Nidhi “Yati Panchatam’ is the word used to denote :
(1) Amritikarana
(2) Marana
(3) Satvapatana
(4) Lohitikarana

Options :

4795482025. 1
4795482026. 2
4795482027. 3
4795482028. 4

Question Number : 27 Question Id : 479548507 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A FATER Al J=a 16 1 T30 fohe T 3w fRan &7
(1)  IFdie

(2) wrwi

(3) H"caqrad

(4) el
Options :

4795482025. 1



4795482026. 2
4795482027. 3
4795482028. 4

Question Number : 28 Question Id : 479548508 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Palika yantra is used for the purpose of :
(1) Jarana

(2) Murchana

(3) Swedana

(4) Parada Bhasmi Karana

Options :

4795482029. 1
4795482030. 2
4795482031. 3
4795482032. 4

Question Number : 28 Question Id : 479548508 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TTfereht I I fohe S & forg s ok S 27
(1) R

(2) H=A

(3) T

(4) UWE WEHfRTO

Options :

4795482029. 1
4795482030. 2
4795482031. 3
4795482032. 4

Question Number : 29 Question Id : 479548509 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per Bhaishajya Ratnavali, the ratio of Parad, Gandhak and Loha in Loha parpati is :
4y LTelel

(@) Tl
(@) 1:2:1
4) 1:2:3

Options :

4795482033. 1
4795482034. 2
4795482035. 3
4795482036. 4

Question Number : 29 Question Id : 479548509 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y9 Tl % AR wig QUi # 9Rg, TFUE U9 @R P AT

(I} 111
2 1:1:2
&) 1:2:1
4) 1:2:3
Options :

4795482033. 1
4795482034. 2
4795482035. 3
4795482036. 4

Question Number : 30 Question Id : 479548510 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Sharangadhar, the dose of ‘Churna drava’ is :

(1) 1/2 Pala

(2) 1 Pala

(3) 2 Pala

(4) 1 Kola
Options :

4795482037. 1
4795482038. 2
4795482039. 3
4795482040. 4

Question Number : 30 Question Id : 479548510 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR o FTAR iZa it A6 2 -

(1) 1/249a
(2) 19a
(3) 2ud
(4) 1@
Options :

4795482037. 1
4795482038. 2
4795482039. 3
4795482040. 4

Question Number : 31 Question Id : 479548511 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to Rasatarangini, the proportion of Guda (Jaggery) for the marana of Abhraka is :
(1) 1/4

(2 1/2

3) 1/8

(4) 1/16
Options :

4795482041. 1
4795482042. 2
4795482043. 3



4795482044. 4

Question Number : 31 Question Id : 479548511 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eafgoft o IR IYHARET  foIT T8 1 AT 22
(1) 1/4

(2) 1/2

(3) 1/8

(4) 1/16
Options :

4795482041. 1
4795482042. 2
4795482043. 3
4795482044. 4

Question Number : 32 Question Id : 479548512 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Rasatarangini, which of the following yantra is used to prepare ‘Talastha
Rasasindura’ ?

(1) Patala yantra

(2) Valuka yantra

(3) Adha Saikata yantra
(4) Bhudhara yantra

Options :

4795482045. 1
4795482046. 2
4795482047. 3
4795482048. 4

Question Number : 32 Question Id : 479548512 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WAl & STER dorey Wibeg fmfomed 3warf o= 37
(1) 9w a4

(2) ST I

(3) Y okl I

(4) & IFA
Options :

4795482045. 1
4795482046. 2
4795482047. 3
4795482048. 4

Question Number : 33 Question Id : 479548513 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements.
Statement I : According to Charak, Brahma Rasayan formulation contains 1000 Haritaki.
Statement II : According to Charak, Agasthya Haritaki formulation contains 100 Haritaki.

In the light of the above statements, choose the most appropriate answer from the options given
below.

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

Options :

4795482049. 1
4795482050. 2
4795482051. 3
4795482052. 4

Question Number : 33 Question Id : 479548513 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fre g e fo o 2| = sgER

FYF 1: F@ WA I § 1000 Bkl sam=n w1 2|

FU [ : I%F & STHER ST glaeht 9m § 100 glaeht 1 aviT 2|

ST A b ek #, 9 fiu e fawedt d @ wdt s w1 == RS
(1) %A 1 a1 % 11 g1 G 2

(2) WA I A HF I A1 38 &
(3)

%o 1 9 & fohrg oA 11 575 2

(4) FF 1 370 2 foheg o9 11 59 2

Options :

4795482049. 1
4795482050. 2
4795482051. 3
4795482052. 4

Question Number : 34 Question Id : 479548514 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Rasa Ratna Samucchaya, the types of Manasila are :

(1) One

(2) Two

(3) Three

(4) Four
Options :

4795482053. 1
4795482054. 2
4795482055. 3
4795482056. 4

Question Number : 34 Question Id : 479548514 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W T g o AR T % TR B
() T
2 =@

(3) o=
(4) =R

Options :

4795482053. 1
4795482054. 2
4795482055. 3
4795482056. 4

Question Number : 35 Question Id : 479548515 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Maireya’ is prepared from :
(1) Sura + Sidhu
(2) Sura + Asava
(3) Sura + Varuni
(4) Sura + Arishta

Options :

4795482057. 1
4795482058. 2
4795482059. 3
4795482060. 4

Question Number : 35 Question Id : 479548515 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fg 1 fwior forad gar 27

(1) gu+#Hy
(2) TU+ Ea

(3) U + arEvit
(4) U+ Jfse
Options :

4795482057. 1
4795482058. 2
4795482059. 3
4795482060. 4

Question Number : 36 Question Id : 479548516 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Charaka Samhita Maharogaadhaya which one of the following is included in shleshma

vikara ?

(1) Atrupti

(2) Udarda

(3) Tama

(4) Timira
Options :

4795482061. 1



4795482062. 2
4795482063. 3
4795482064. 4

Question Number : 36 Question Id : 479548516 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T HigdT e 9ER, = § @ S-w v fen 27
(1) @i
(2) 3%

(3) a9
(4) fafim
Options :

4795482061. 1
4795482062. 2
4795482063. 3
4795482064. 4

Question Number : 37 Question Id : 479548517 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to Charak, complete the shloka.

o AYHE ° TORHEHT ¥ Al | HAfAfhed1 Wacad el HiE & afd |

(1) Gulmi

(2) Pandu

(3) Vata vyadhi

(4) Kushthi
Options :

4795482065. 1
4795482066. 2
4795482067. 3
4795482068. 4

Question Number : 37 Question Id : 479548517 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
velish Ut U] (SERER) I AYHE! 9 USEEH 9 A | Afafhedl YaoId 59 79 ¥ Al
(1) T

(2) HrUg

—

(3) ama =y
4) T

Options :

4795482065. 1
4795482066. 2
4795482067. 3
4795482068. 4

Question Number : 38 Question Id : 479548518 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to Acharya Charaka, colour of Ojas in similar to :
(1) Ghrita

(2) Taila
(3) Madhu
(4) Majja
Options :

4795482069. 1
4795482070. 2
4795482071. 3
4795482072. 4

Question Number : 38 Question Id : 479548518 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e W AAHEN, S 1 T fheeh qum 27

(1) 4
(2) o=
(3) w4
(4) #s
Options :

4795482069. 1
4795482070. 2
4795482071. 3
4795482072. 4

Question Number : 39 Question Id : 479548519 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-1I.

List-I List-1I

(Metaplasia) (Cellular adoptations)
(A) Cartilaginous Metaplasia (I)  Chronic bronchitis
(B) Osseous Metaplasia (I) Vitamin A deficiency
(C) Squamous Metaplasia (II) Leiomyoma
(D) Columnar Metaplasia (IV) Healing of fractures

Choose the correct answer from the options given below.

(1) (A)-(1V), (B)-(II), (C)-(1), (D)~(11T)
(2)  (A)-(1V), (B)-(II), (C)-(III), (D)-(T)
(3)  (A)-(IV), (B)-(ID), (O)-IT), (D)-(T)
(4)  (A)-(1V), (B)-(IID), (C)-(I), (D)-(IT)
Options :

4795482073. 1
4795482074. 2
4795482075. 3
4795482076. 4

Question Number : 39 Question Id : 479548519 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gfi-1 # gE-11 & gafaa i

-1 gHi-1I
(A TeaTfaaT) (AgeR FSTE M)
(A) ifeafsa fereafer () shifeR siimsfes
(B) i Hercemteam (1) foerfi A fehfaust
(C) MY HeTTe= (1) feFamamraT
(D) HIAHAR HTATRT (1Iv) fefem =1
e faedt @ @l ST w1 =3 it
(1) (A)-1V), (B)-(ID), (C)-(D), (D)-(IIT)
(2)  (A)-(1V), (B)-(ID), (C)-(III), (D)-(T)
(3)  (A)-(1V), (B)-(ID), (O)-(I0), (D)-(T)
(4)  (A)-(IV), (B)-(ID), (O)-(I), (D)-(IT)
Options :

4795482073. 1
4795482074. 2
4795482075. 3
4795482076. 4

Question Number : 40 Question Id : 479548520 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the correct sequence of event occurring in the pathogenesis of jvara from events mentioned

below : (from initial events to later events)

(A)  SfaeamTSERSon

(B) TR

(C) ufsermmgsm s

(D) wefuefhyEmemRER aRomeaTg

(E) THEaCagl aary foeam

Choose the correct answer from the options given below.
(1) (A)-(B)-(E)-(C)-(D)

(2)  (A)-(D)-(E)-(O)-(B)
(3)  (A)-(D)-(E)-(B)-(C)
(4)  (A)-(D)-(B)-(E)-(C)
Options :

4795482077. 1
4795482078. 2
4795482079. 3
4795482080. 4

Question Number : 40 Question Id : 479548520 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frferfiga gemett @ (MW & Rt o1g it "1 dh) S WeHA H B4 el "1 ol & HeATshA i Tg=a™
i)

(A)  SfaeamHTSERSHOn

(B) srfemTEe

(C) i afafe

(D) wefsfhpEmemmERr afemag

(E) TowagaaT gary faam

= fopeat @ @ ot s @ 9= Hifsg
(1) (A)-(B)-(E)-(C)-(D)

(2)  (A)-(D)-(E)-(O)-(B)

(3)  (A)-(D)-(E)-(B)-(C)

(4)  (A)-(D)-(B)-(E)-(C)

Options :

4795482077. 1
4795482078. 2
4795482079. 3
4795482080. 4

Question Number : 41 Question Id : 479548521 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify and mark the correct sequence of events as occurring in the pathogenesis of Pandu roga
as described by Charaka Sambhita).

(

(A) arg afern frd T e
(B) U9 hadl o7 ISHIHTHTIY
(
(
(

C) g™ FHAMYH aSHHH FUfd qq,

D) wgdir aer fued ged graferay

E) ungsigaiar s sgfauicafa
Choose the correct answer from the options given below.
(1) (A)-(D)-(B)-(C)-(E)

(2)  (A)-(B)-(O)-(D)-(E)
(3)  (D)-(A)-(B)-(E)-(C)
(4)  (D)-(A)-(B)-(C)-(E)
Options :

4795482081. 1
4795482082. 2
4795482083. 3
4795482084. 4

Question Number : 41 Question Id : 479548521 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= Gigar § aftfa q1ug U % WA | =N % WEl SR i g ve fufRa i
(A) @ s fered Fure e

(B) WU hael o7 TSHTHT=RHTIAIT

(C) Vg FHagd SeHEM Bl T

(D) Fgfor et o e wHaIfera,

() wgEERa i g

= fomreat @ @ Tt s w1 T i)
(1) (A)-(D)-(B)-(O)-(E)

(2)  (A)-(B)-(O)-(D)-(E)

(3)  (D)-(A)-(B)-(E)-(C)

(4)  (D)-(A)-(B)-(O)-(E)

Options :

4795482081. 1
4795482082. 2
4795482083. 3
4795482084. 4

Question Number : 42 Question 1d : 479548522 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following sentences and choose the correct options.

(A) Vatarakta can lead to complications like ‘marma graha’, ‘arbuda’

(B) ‘Maha vastu’, “matsyashakalopamam’” is the clinical presentation of mandala kushtha
(C) ‘Kunup gandhi’, ‘Amavarcha’ is the clinical presentation of Baddha gudodara

(D) ‘Sira-snayu sandarshi’, ‘kunap gandhi’ is the clinical presentation in kardam visarpa
Choose the most appropriate answer from the options given below.

(1) (C) and (D) Only

(2) (A) and (C) Only

(3) (B)and (C) Only
(4) (A) and (D) Only

Options :

4795482085. 1
4795482086. 2
4795482087. 3
4795482088. 4

Question Number : 42 Question Id : 479548522 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frforfiga i = feu v @& fawea 1 99w Hifsw)

(A) ‘mirE wg ‘STeg ITatEe % SUgd TEEY 309 B T 2l
(B) WEETE], HECIIFhIIH, ~ HUSH FS & & 2

(C) ForwIfy, HaE - FgIE & A% 2|

(D) faw-wm deft - sy fomd & @emor B

fir # & matfs st 3o 9

(1) <heet (C) 3 (D)

(2) <Rl (A) 3R (C)
(3) e (B) 3T (O)
(4) <heel (A) 3R (D)

Options :

4795482085. 1
4795482086. 2
4795482087. 3
4795482088. 4

Question Number : 43 Question Id : 479548523 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Type of ‘Srotodusti’ seen in ‘Gudarsha” is :
(1) Sanga

(2) Siraj Granthi

(3) Vimarga Gamana

(4) Atipravritt

Options :

4795482089. 1
4795482090. 2
4795482091. 3
4795482092. 4

Question Number : 43 Question Id : 479548523 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘el § B ¥ gehR I Eiaigfe’ aE It 27

(1) =m

(2) T w=ft

(3) femmmE

(4) gt
Options :

4795482089. 1
4795482090. 2
4795482091. 3
4795482092. 4

Question Number : 44 Question Id : 479548524 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to Charak, “sffareomsRR @EFI'ITL’ leads to Sroto Dusti.
(1) Mamsavaha

(2) Mutravaha

(3) Swedavaha

(4) Purishavaha

Options :

4795482093. 1
4795482094. 2
4795482095. 3
4795482096. 4

Question Number : 44 Question Id : 479548524 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T FHAR IfdrmsRy e | Hiag_ il gfee 2t 21
(1) wEaE

(2) WIAIE

(3) TR

(4) Flvas

Options :

4795482093. 1
4795482094. 2
4795482095. 3
4795482096. 4

Question Number : 45 Question Id : 479548525 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

£ L H r - .
GE) ﬁﬁﬁmﬁﬂaﬁ i‘?’ii%: is mentioned in Examination.
1) Pramana

(
(2) Samhanana
(

3) Sara
(4) Bala
Options :

4795482097. 1
4795482098. 2
4795482099. 3
4795482100. 4

Question Number : 45 Question Id : 479548525 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘T fudfermmmerea fafz:)’ Titenm § WS TS 2|

(1) s
(2) TEH
(3) ¥R
(4) =«
Options :

4795482097. 1
4795482098. 2
4795482099. 3



4795482100. 4

Question Number : 46 Question Id : 479548526 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘e ‘Jﬁqﬁg{’ is Lakshana of :
1) Vatodara

Kaphodara

3) Baddhagudodara

(4) Plihodara

Options :

4795482101. 1
4795482102. 2
4795482103. 3
4795482104. 4

&

(
(
(

Question Number : 46 Question Id : 479548526 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Tefimed afigly’ 3 fohue wam 27

(4) vefEg

Options :

4795482101. 1
4795482102. 2
4795482103. 3
4795482104. 4

Question Number : 47 Question Id : 479548527 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is an example of Zoonotic disease ?
(1) Cholera
(2) Rabies
(3) Typhoid fever
(4) Hepatitis A

Options :

4795482105. 1
4795482106. 2
4795482107. 3
4795482108. 4

Question Number : 47 Question Id : 479548527 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e o TrfﬁﬁE T (Zoonotic disease) T I T Th IETEWT 27
(1) o
(2) S

(3) TrwES fher
(4) FweEk™ A
Options :

4795482105. 1
4795482106. 2
4795482107. 3
4795482108. 4

Question Number : 48 Question Id : 479548528 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The age group of children covered under the Rashtriya Bala Swasthya Karyakram (RBSK) is
(1) 05-15 years
(2) 00-18 years
(3) 05-18 years
(4) 00-10 years

Options :

4795482109. 1
4795482110. 2
4795482111.3
4795482112. 4

Question Number : 48 Question Id : 479548528 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS o6t TTEed Shiihd § sredl 1 Sga 2
(1) 05-15 94

(2) 00-18 =¥

(3) 05-18 =¥

(4) 00-10 ¥

Options :

4795482109. 1
4795482110. 2
4795482111. 3
4795482112. 4

Question Number : 49 Question Id : 479548529 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many Nadika will constitute one Muhurta ?

() 2
(2) 3
3) 4
(4) 6
Options :

4795482113. 1



4795482114.2
4795482115. 3
4795482116. 4

Question Number : 49 Question Id : 479548529 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fepaft fsspml w gad saRett 7
(1) 2
(2) 3
(3) 4
(4) 6
Options :
4795482113. 1
4795482114. 2

4795482115. 3
4795482116. 4

Question Number : 50 Question Id : 479548530 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many sutras are mentioned in the Samadhipada of Patanjala Yoga Sutra ?
(1) 51

(2) 55
(3) 34
(4) 60

Options :

4795482117. 1
4795482118. 2
4795482119. 3
4795482120. 4

Question Number : 50 Question Id : 479548530 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qaSie! A §F o qurHieg § foRael g 1 Seo@ B 7

(1) 51
(2) 55
(3) 34
(4) 60

Options :

4795482117. 1
4795482118.2
4795482119. 3
4795482120. 4

Question Number : 51 Question Id : 479548531 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Deep well water yields safest water and are considered as one of the most
satisfactory source of water supply.

Reason (R) : Deep well taps ground water from below the first impervious layer of the ground.

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

4795482121. 1
4795482122.2
4795482123. 3
4795482124. 4

Question Number : 51 Question Id : 479548531 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f 3 wem f@ ™ 2 52 waw: aifimpem (A) qonm #RW (R) @ wmifeRa TR T R

Aty (A) : TR FoN A gUEa @ ureq gran 2 i St |id 1 weh Haifos gareres | g S
2l

HO (R) : TEU H37, It H T8l AW WA § TS qTd F 2

Sulierd el o 3Teiren 4 e feepedt o meifeer sfa sw g

(1) (A) & (R) 3FT T B 3 (R), (A) H T8 =T 2

(2) (A) @ (R) 2T &3 2 9 (R), (A) *I @& ame 74 2|

(3) (A) T 8 W (R) 19 3l

(4) (A) 39T 2 7+ (R) ¥ 2

Options :

4795482121. 1
4795482122. 2
4795482123. 3
4795482124. 4

Question Number : 52 Question Id : 479548532 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following statements as per Gheranda Sambhita.

(A) Bhala bhati (WI@WIfd) is of two types

(B) Bhala bhati (Wi@wIfd) relieves kapha originated diseases

(C) Lauliki Kriya (iferehl fomalm) causes agnimandya

(D) Jala basti (F/&@ sf&) and Shankha basti (Y@ @) are the two types of basti karma
(E) Hrid dhouti (8% 9fd) is of three types

Choose the correct answer from the options given below.

(1) (A), (B) and (C) are correct, (D) and (E) are wrong

@ (A

(3) (B), (C) and (E) are correct, (A
(4) (B) and (E) are correct, (A), (C

Options :

4795482125. 1
4795482126.2
4795482127. 3
4795482128. 4

), (C) and (D) are correct, (B) and (E) are wrong

)
) and (D) are wrong
) and (D)

D) are wrong

Question Number : 52 Question Id : 479548532 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g digar & e fm et w faem Fifu)
(A) WIS =T & TR |

(B) wmrerwrfer shthe Uit & Iaw fewrman R

(C) itferehl o & w1fir g gt 21

(D) <& afeq qen g sfed, sfed &+ & o TR 2
(E) =g oifd €9 TR =1 & 2

firr R T Rrehedt @ B I ghT

(1) (A), (B ) qen (C) Tdl 3t (D) aur (E) 7T 3l
(2) (A), (O) T (D) @& R (B) 7 (E) Tefdl 2l
3) (B, © Wﬁw (D) et 2|
(4) (B) @ ww ), (C) T (D) T 2l
Options :

4795482125. 1
4795482126. 2
4795482127. 3
4795482128. 4

Question Number : 53 Question Id : 479548533 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements.
Statement I : lonizing radiation can penetrate tissues and deposit its energy within them.

Statement II: Two main groups of ionizing radiation are electromagnetic radiation and corpuscular
radiations.

In the light of the above statements, choose the most appropriate answer from the options given
below.

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

Options :

4795482129. 1
4795482130. 2
4795482131. 3
4795482132. 4

Question Number : 53 Question Id : 479548533 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 21 s fog o 2

A 1 : 3R fafenor Soenl § ya9r o 379 ol 390 ST o Gehdl 2l

FYA 11 ; AR fafehr & g ygE oz, soagmHies fafeor qon sidager fafsor 2|
SEd HeAT % TR |, i fashedt @ waifues @€t ST @ = i)

(1) o= I an %o 11 341 @ 2|

(2) o 1 HUF 11 gH1 Terd 2|

(3) e I TEl § Wg A I TTerd &

(4) H I TAd 9+q HH 11 98 2

Options :

4795482129. 1
4795482130. 2
4795482131. 3
4795482132. 4

Question Number : 54 Question Id : 479548534 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-1I.

List-1 List-1I
(Twig used for (Benefits)
dantadhavana)
(A) Khadira (D  Perfect speech
(B) Udumbara () Courage and intelligence
(C) Apamarga () Pleasant voice
(D) Vidari (IV) Good smell of the mouth

Choose the correct answer from the options given below.
1) A)-D, (B)-(W) (©)-11), (D)-(I)
(2)  (A)IV), (B)-(), (O-(1D), (D))
(3)  (A)-(1), (B)-(1D), (©)-(1V), (D)-()
(4) (A1), (B)-(1), ©)-(1), (D)-(1V)

Options :

4795482133. 1
4795482134.2
4795482135.3
4795482136. 4

Question Number : 54 Question Id : 479548534 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 & gE-11 & gafoa i

-1 gHt-11
(SaHTSS) (@)
(A) @i () @ fifg
(B) IFW () g S e
(C)  TamEmA () WY &
(D) faerd (V) 9@ dree
fr= foeredt @ et ST 9w
(1) (A1), (B)-(IV), (O)-(III), (D)-(II)
(2)  (A)-V), (B)-(I), (O)-(11), (D)~(III)
(3) (A1), (B)-(I), (©)-(IV), (D)-(I)
(4) (A1), B)-(), (O)-(), (D)-(IV)
Options :

4795482133. 1
4795482134. 2
4795482135.3
4795482136. 4

Question Number : 55 Question Id : 479548535 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to Charaka Tda: gia g W9 W fFEfiEd | is said in the context of ;
(1) Sutika Vyapad Chikitsa

(2) Yonivyapad Chikitsa

(3) Garbhini Vyapad Chikitsa

(4) Artava Dushti Chikitsa

Options :

4795482137. 1
4795482138.2
4795482139. 3
4795482140. 4

Question Number : 55 Question Id : 479548535 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ek FIEN T Graggrn: 99 &d fefad) =2 % Hed H a T 2
(1) gfder =g e
(2) =g fafeha
(3) Tift smag Taferea
(4) e gfee fafercan
Options :
4795482137. 1
4795482138. 2

4795482139. 3
4795482140. 4

Question Number : 56 Question Id : 479548536 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Rise in Basal Body Temperature (BBT) after ovulation is caused by
(1) HCG hormone
(2) Progesterone hormone
(3) Estrogen hormone
(4) Prolactin hormone

Options :

4795482141. 1
4795482142.2
4795482143. 3
4795482144. 4

Question Number : 56 Question Id : 479548536 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JTegEre % e SEd SE R (BBT) # afg % HI Bl 2
(1) T A, FaemE

(2) SRR SqEE

(3) TEISH 3faEm

(4) UIAFEH IHdETe

Options :

4795482141. 1
4795482142.2
4795482143. 3



4795482144. 4

Question Number : 57 Question Id : 479548537 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The diseases occurring in sutika avastha are either =T or I,

Reason (R) : Snehapana and Brimhana treatment cannot be done in sutika, hence the disease
becomes HTHHTET or HHTE,

In the light of the above statements, choose the correct answer from the options given below.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A)is false but (R) is true

Options :

4795482145. 1
4795482146. 2
4795482147. 3
4795482148. 4

Question Number : 57 Question Id : 479548537 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fr @ waa fom o #1 wE w1 AfERR (A) T gE T wRW (R) FE T R
AfRYA (A) : i rEwe | B arel Aot HeodTed 91 e ddl 2
FI (R) : i § SaaH 3t 71 72 fGn s gerar, safow sy sogare  sme 2d 2
YU e & AF O FF famed @ @@ s w1 == Hifvm

(1) (A) @1 (R) gH1 T2 2 3R (R), (A) I T& =& 2l

(2) (A) T (R) 3F1 @& € TG (R), (A) T T sawe T4 2l

(3) (A)HA 2 (R) 31HH 2l

(4) (A)3EF 7 (R) 97 2

Options :

4795482145. 1

4795482146. 2

4795482147. 3
4795482148. 4

Question Number : 58 Question Id : 479548538 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
‘Jata harini’ are described in sthana of kashyap sambhita.
1) Indriya

(
(2) Siddhi
(

3) Kalpa
(4) Sharir
Options :

4795482149. 1
4795482150. 2
4795482151. 3



4795482152. 4

Question Number : 58 Question Id : 479548538 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Straaifol’ sreag gfedr T H afid B

(1) sfz
(2) fafg
(3) ed
(4) R
Options :

4795482149. 1
4795482150. 2
4795482151. 3
4795482152. 4

Question Number : 59 Question Id : 479548539 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Match List-I with List-II.
List-I List-II
(Type of Mudha Garbha) (Clinical Features)
(A) Kila 0 & gageame R
(B) Pratikhura 1) FriscsRmy:
(C) Bijaka (III) RIERCLIE ]
(D) Parigha V) 3edarg forearg
Choose the correct answer from the options given below.
(1) (A1), (B)-(1), (O, (D)-(IV)
(2)  (A)-V), (B)(D), (O)-(1D), (D)-()
(3)  (A)-(1D), (B)-(IID), (©)-(V), (D)-(I)
(4) (A1), (B)-1V), (O)-1), (D)-{1)

Options :

4795482153. 1
4795482154.2
4795482155.3
4795482156. 4

(
(

Question Number : 59 Question Id : 479548539 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1) (A)-D), (B)-(ID), (O)-(I), (D)-(IV)
(2)  (A)-IV), (B)-(I), (O~(ID), (D)-(IIT)
(3)  (A)-(D), (B)-(IIT), (O)-(IV), (D)-(T)
(4) (A1), (B)-(IV), (O)-(I0), (D)-(T)
Options :

4795482153. 1
4795482154.2
4795482155. 3
4795482156. 4

Question Number : 60 Question Id : 479548540 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-IL
List-1 List-1I

(A) Ritumati lakshana () TNa FAFERE a7 Ta
(B) Sadyogruhita garbha () giw wefa 7= wfe=d
(C) Vyakta garbha (III) 719 YUOT TG TA=mareed
(D) Upasthita garbha (IV) T&TEed Fequrait

Choose the correct answer from the option given below :
1) A)-D, (B)-(IH) (©)-(1), (D)-(1V)

(2)  (A)-1V), (B)-(ID), (C)-(D), (D)-(IIT)
(3)  (A)-O), ( )( ), (O)-(1), (D)~(1IT)
(4)  (A)-), (B)-(T), (C)-(IV), (D)-(IT)
Options :

4795482157. 1
4795482158.2
4795482159. 3
4795482160. 4

Question Number : 60 Question Id : 479548540 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



D) 3ufesrd yaan IV) T&TEed Feurai
= faepedt & @ét s gfw)
(1) (A)-(1), (B)}-(IIT), (C)-(IT), (D)-(IV)
(2)  (A)-(1V), (B)-(IT), (C)-(), (D)-(I1T)
(3) (A1), (B}-(IV), (O)-(II), (D)~(IIT)
(4) (A)-(I1D), (B)-(T), (O-(IV), (D)-(IT)
Options :

4795482157. 1
4795482158.2
4795482159. 3
4795482160. 4

Question Number : 61 Question Id : 479548541 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : A 36 week primigravida with Blood Pressure 160/110 mmHg is advised for
caesarean section.

Reason (R) : Blood pressure beyond 140/90 mmHg during pregnancy can cause fetal distress
and seizures in mother.

In the light of the above statements, choose the most appropriate answer from the options given

below.

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

4795482161. 1
4795482162.2
4795482163. 3
4795482164. 4

Question Number : 61 Question Id : 479548541 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=1 21 wum (A) @en RO (R) T R

AHHAT (A) :  TH 36 TaTE I ggeA aR Tardl forEen @aed160/110 mmHg 2 38 s gewm i
HelE 4 T8 2

F (R) : TTERET o I TEa=md 140,/90 § 31feyes g1, 14 ¥ fheer fewed ud ran | 31eiy 1 o]
ECETIRS

SUEd e % S § e et @ watfies sfa s gfic

(1) (A) @& (R) gF1 && 2 a1 (R), (A) & T8 == 2

(2) (A) @91 (R) 341 & & W (R), (A) 1 o w78 R

(3) (A) & ? W (R) o 2

(4) (A) T B g (R) FA 2

Options :

4795482161. 1
4795482162.2
4795482163. 3
4795482164. 4

Question Number : 62 Question Id : 479548542 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Charak, in reference to complication of Yonivyapada, choose the correct option.

e yerdte sfadteay!”
(1) &9

(2)

(3) e

(4) @9

Options :

4795482165. 1
4795482166. 2
4795482167. 3
4795482168. 4

Question Number : 62 Question Id : 479548542 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Tem _ vewdiy amny s W F IEER AeTE % IEa % = § aftt, w8 feen
F1 T B

(1) e

(2) W

(3) *%

(4) ot
Options :

4795482165. 1
4795482166. 2
4795482167. 3
4795482168. 4

Question Number : 63 Question Id : 479548543 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which disease of a child, both child as well as mother/wet nurse are to be given shodhana
chikitsa ?

(1) Skanda graha

(2) Bala shosha

(3) Kshiralasaka

(4) Paridagdha chchavi

Options :

4795482169. 1
4795482170. 2
4795482171. 3
4795482172. 4

Question Number : 63 Question Id : 479548543 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STeTehl o shiAdT ATY T HraT/aEf U aTetsh l wiYA fafehedn o e § afvlq 27

(1) b5 I8

(2) «F ¥

(3) s

(4) dfgu=sfa
Options :

4795482169. 1
4795482170. 2
4795482171.3
4795482172. 4

Question Number : 64 Question Id : 479548544 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List-I with List-1I.

List-1 List-11
(A) 8™ month teeth eruption () e wEor:
(B) 6™ month teeth eruption (I) T
(C) 4™ month teeth eruption (II) ST Eg=:
(D) 7% month teeth eruption (IV) 3Ty &

Choose the correct answer from the options given below.
(1) (A)MD), (B)-(), (O)-I), (D)-(IV)
(2)  (A)-IV), (B)-(IID), (O)-(D), (D)-()
(3) (A, (B)-1), (O-1V), (D)}-(I)
(4)  (A)-1D), (B)-IV), (©)-1), (D))

Options :

4795482173. 1
4795482174. 2
4795482175. 3
4795482176. 4

Question Number : 64 Question Id : 479548544 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 # gE-11 @ gafaa Hifsm

-1 gHi-1I
(A) wren wifg g ffve () =& T
(B) WSS WY gra fAfoer () TiE=:
(C) =qd wifa g e (TT) TP T=;
(D) Ty =iy g fftrer (IV) 3Ty &

e fau o forepedi # € @t IR w1 = I

(1) (A)-(), (B)-(IT), (C)-(11I), (D)-(IV)
(2)  (A)-IV), (B)-(I1T), (CO)-(IT), (D)-(T)
(3) (A1), (B)-(D), (C)-(1V), (D)-(IT)
(4) (A)-(D), B)-(IV), (C)-(D), (D)-(IIT)
Options :

4795482173. 1
4795482174.2
4795482175. 3
4795482176. 4

Question Number : 65 Question Id : 479548545 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-IL

List-I List-II
(A) Down syndrome ()  Cracked pot sign
(B) Duchenne Muscular Dystrophy (I)  Flaky-paint dermatosis
(C©) Hydrocephalus (II) Simian crease
(D) Kwashiorkor (IV) Gower’s sign

Choose the correct answer from the options given below.
(1) (A)-(1), (B)-(1V), (O)-(1), (D)-I)
(2) (A1), (B)-(IL), (O~(IV ), D)-()
(3)  (A)HD), (B)-(I), (O)-(ID), (D)-(IV)
(4) (A1), (B)-(IV), (O)-0), (D)-(II)

Options :

4795482177. 1
4795482178.2
4795482179. 3
4795482180. 4

,—.\,—\

Question Number : 65 Question Id : 479548545 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 gHi-1I
(A) w1 fagm ()  shefe Wie TREA
(B) ST wepew fewgrer () eht Te sHeifeE
(C) ERSiHmad (1) faftrm s
(D) TSR (IV) Tiae are

f=1 fau u fasedi 4 & @@l I w1 = Al

(1) (A1), (B)-(1V), (O)-(I), (D)-(1)
(2)  (A)-(D), (B)-(IID), (©)-(1V), (D)-(1)
(3) (A1), (B)-(IT), (C)-(11I), (D)-(IV)
(4) (A)-I1D), (B)-(IV), (O)-1), (D)-(IT)
Options :

4795482177. 1
4795482178.2
4795482179. 3
4795482180. 4

Question Number : 66 Question Id : 479548546 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

As per Kashyap Samhita, regarding Sneha Sevana -

(A) Ghrita pana is advocated in Sharad Ritu

(B) Taila sevana is advocated in Pravrit Ritu

(C) Vasa sevana is advocated in Vasant Ritu

(D) Majja sevana is advocated in Grishma Ritu

Choose the most appropriate answer from the options given below.

(1) (A), (B), (C) Only

(2)  (A) (©), (D) Only
(3)  (B), (©O), (D) Only
(4)  (B), (A), (D) Only
Options :

4795482181. 1
4795482182. 2
4795482183. 3
4795482184. 4

Question Number : 66 Question Id : 479548546 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(A) g g # ga Fa ffdw 2l

(B) ge g d ¥ e ffi 2

(C) =a=r g # =@ da7 fifde 2|

(D) 3t =g # wen Fad ffée 2

H= fou o fashedt § @ Hod 3ugdd I 1 =T HINT
(1) = (A), (B), (©

(2) == (A), (©), (D)

(3) #ad (B), (O), (D)

(4) Fad (B)

Options :

4795482181. 1
4795482182.2
4795482183. 3
4795482184. 4

Question Number : 67 Question Id : 479548547 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Regarding Padmakantaka Vyadhi :

(A) Padmakantaka is a type of visarpa seen in children only
(B) It has two Gati in its manifestation

(C) Kashyapa has explained about this disease in detail in visarpa chikitsa
(D) Madhava Nidana explains about this disease

Choose the most appropriate answer from the options given below.
(1) (A) and (B) Only
(2)  (A) (B), (C) Only
(3) (A) (B), (D) Only
(4) (A) and (C) Only

Options :

4795482185. 1
4795482186. 2
4795482187. 3
4795482188. 4

Question Number : 67 Question Id : 479548547 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UIhUCSh S o fawa 7

(A) UEHCH UH TR H fomd, S fh = o & qrn s 2

(B) 3EH T THR H TR

(C) ey Efzar % foad fafeheamerm o go =t w1 forea avf fireran 2
(D) wreE Fem 4 39 =1ty & auH fiemn 2

H= fou o fashedt § @ Hod 3ugdd I 1 =T HINT

(1) aa (A) 3R (B)

(2) = (A), (B), (O
(3) = (A), (B), (D)
(4) e (A) 3R (C)
Options :

4795482185. 1
4795482186. 2
4795482187. 3
4795482188. 4

Question Number : 68 Question Id : 479548548 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Kashyapa, “Pangumookashrutijada Yujyante Chashu Karmabhih”
This is mentioned for which of the following formulation ?

(1) Abhaya Ghrita

(2) Dashanga Ghrita

(3) Samvardhana Ghrita

(4) Shaishuka Ghrita

Options :

4795482189. 1
4795482190. 2
4795482191. 3
4795482192. 4

Question Number : 68 Question Id : 479548548 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7% fore sftwyg M % s H e T 7
(1) v ga

(2) < A

(3) A T

(4) 9% gd

Options :

4795482189. 1
4795482190. 2
4795482191.3
4795482192. 4

Question Number : 69 Question Id : 479548549 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According Kashyapa, “Vishalastabdhanayanah Parvabhedarati Klamee” are the clinical features
of which of the following ?

(1) Udarashoola

(2) Aanaha

(3) Ashmari

(4) Alasaka
Options :

4795482193. 1
4795482194. 2
4795482195. 3
4795482196. 4

Question Number : 69 Question Id : 479548549 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F1T AR TomTerdsaET: g9 Fod’

=1 & @ g T & @gor 27
(1) Sew™
(2) SAHTE
(3) armd
(4) 3IAcTEh
Options :

4795482193. 1
4795482194. 2
4795482195.3
4795482196. 4

Question Number : 70 Question Id : 479548550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following Navajata shishu paricharya in the order of their application as explained
by Ashtanga Hridaya

(A) Prana pratya gamana (JTOTScaTTHA )

(B) Garbhodaka vamana (THig®h a5 )

(C) Ulba Parimarjana (3cs qftwmsi)

(D) Snana (&M)

(E) Nala Chhedana (1&1 B&)

(1) (A), (B), (O), (E). (D)
(2)  (©), (A), (B), (D), (B)
(3) (B (A), (O), (E). (D)
(4) (A) (B), (D), (B), (O)
Options :

4795482197. 1
4795482198. 2
4795482199. 3
4795482200. 4

Question Number : 70 Question Id : 479548550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

IS B IFER Ao g ufteat # o At Frefafaa afemt w5t gem w8 et e § ffa

(A)  STOTIEITTEA
(B) e ST
(C) 3Ioa giHH
(D) #m™

(E) T &

(1) (A) (B), (), (E), (D)
(2)  (©), (A), (B), (D), (B)
(3)  (B) (A) (O), (E), (D)
(4)  (A), (BE), (D), (B), (C)
Options :

4795482197. 1
4795482198. 2
4795482199. 3
4795482200. 4

Question Number : 71 Question Id : 479548551 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"ﬂﬁ_ﬁ'ﬂﬂ gfarer’ is an etiological factor for which of the following disease ?
(1) Kushta

(2) Prameha

(3) Raktapradara

(4) Jwara

Options :

4795482201. 1
4795482202. 2
4795482203. 3
4795482204. 4

Question Number : 71 Question Id : 479548551 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘wafereg afarera st R T @1 R AT T R

(1) %
(2) wHE
(3) TFAUI
(4) s
Options :

4795482201. 1
4795482202. 2
4795482203. 3
4795482204. 4

Question Number : 72 Question Id : 479548552 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which Rogadhikara Lashuna Ksheera is described in Charaka samhita ?

(1) Vata Rakta

(2) Gulma

(3) Vata Vyadhi

(4) Rakta Pitta
Options :

4795482205. 1
4795482206. 2
4795482207. 3
4795482208. 4

Question Number : 72 Question Id : 479548552 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YA & = |fedr & fhm amfeser # afofa 27
(1) aTaer

(2) TeH

(3) ama =y

(4) @ U

Options :

4795482205. 1
4795482206. 2
4795482207. 3
4795482208. 4

Question Number : 73 Question Id : 479548553 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to Charaka, identify the correct Anupana of Triphala rasayana.

(1) Madhu-sarpi

(2) Sarpi

(3) Madhu

(4) Ksheera
Options :

4795482209. 1
4795482210. 2
4795482211. 3
4795482212. 4

Question Number : 73 Question Id : 479548553 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T % AR e e # o 7 sEuE i wwgem =
(1) =y

(2) @fd

(3) 7Y
4) &w
Options :

4795482209. 1

4795482210. 2
4795482211. 3



4795482212. 4

Question Number : 74 Question Id : 479548554 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Vyadhitendriya is the lakshana of
(1) Oja Kshaya
(2) Oja Vriddhi
(3) Ojo Vyapata
(4) Ojo Visramsa

Options :

4795482213. 1
4795482214. 2
4795482215. 3
4795482216. 4

Question Number : 74 Question Id : 479548554 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sftdfsg @ @& R

(1) 3 &=

(2) @ iy

(3) S =g

(4) o foEE
Options :

4795482213. 1
4795482214. 2
4795482215.3
4795482216. 4

Question Number : 75 Question Id : 479548555 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dose of “Hema choorna” in Hriduisodhana is
(1) Shana Pramana

(2) Dharana Pramana

(3) Karsha Pramana

(4) Ardha Karsha Pramana

Options :

4795482217. 1
4795482218.2
4795482219. 3
4795482220. 4

Question Number : 75 Question Id : 479548555 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ggomes § gu=ol w1 gHor 2l

(1) ST SO
(2) EmOT SO
(3) W wuTor
(4) 4 & yEr

Options :

4795482217. 1
4795482218.2
4795482219. 3
4795482220. 4

Question Number : 76 Question Id : 479548556 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Charaka, Adhyasana is cause of
(1) Annavaha Srotodushti

(2) Rasavaha Srotodushti

(3) Varchavaha Srotodushti

(4) Sukravaha Srotodushti

Options :

4795482221. 1
4795482222.2
4795482223. 3
4795482224. 4

Question Number : 76 Question Id : 479548556 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Th h IR T T HA 7
(1) 3~aE Frge

(2) THEE HAwgfe

(3) 4 98 Hidige

(4) Yhaw Hirgfe

Options :

4795482221. 1
4795482222.2
4795482223. 3
4795482224. 4

Question Number : 77 Question Id : 479548557 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Sushruta, Ghrita is indicated in Jwara after days.
(1) 7 days
(2) 10 days
(3) 12 days
(4) 6 days
Options :

4795482225. 1
4795482226.2
4795482227.3



4795482228. 4

Question Number : 77 Question Id : 479548557 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gYd & FIER SR H gd H T % g HE1 AMEY
(1) 7f@

(2) 10 fe

3) 12f&
(4) ofa
Options :

4795482225. 1
4795482226.2
4795482227. 3
4795482228. 4

Question Number : 78 Question Id : 479548558 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Sushruta Match List-I with List-IL

List-I List-II
(Marma) (Mahabhuta Pradhyanyata)
(A) Sadya Pranaharani () Vayavyani
(B) Vishalyaghna () Soumya agneyani
(€) Kalantara Pranaharani (II) Soumyani
(D) Vaikalyakarani (IV) Agneyani

Choose the correct answer from the options given below.

(1) (A1), (B)-(I1D), (O)-(1), (D)-(IV)
(2)  (A)-(D), B)-1V), (©)-(II), (D)-()
(3)  (A)-(IV), (B)-(), (C)-(ID), (D)~(II)
(4) (A1), (B)-(11), (©)-(), (D)-(IV)

Options :

4795482229. 1
4795482230. 2
4795482231. 3
4795482232. 4

Question Number : 78 Question Id : 479548558 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gYd & ATER gE-1 ® gEt-11 & gafera shifsm)

-1 g -11
(wd) (wETa weTEaT)
(A) @ FToTEfT () areET
(B) forreweA (1) drear=E
(C) IEATat JToTEor (IIT)  Fref
(D) SRl (IV) =
= faeredl & @ 3 gfm)
(1) (A)-D), (B)-(IIT), (C)-(1), (D)-(IV)
(2)  (A)-(D), (B)-(IV), (C)-(II), (D)-()
(3)  (A)-IV), (B)-(I), (O~1D), (D)-(IIT)
(4)  (A)-(10), (B)-(1D), (O)-(1), (D)-(IV)
Options :

4795482229. 1
4795482230. 2
4795482231. 3
4795482232. 4

Question Number : 79 Question Id : 479548559 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List-1I with List-1I.

List-I List-1I
(Kushta) (Laxana)
(A) Charmakhya (I) Matsya Sakala
(B) Vipadika (II) Khara Sparsam
(C) Kitibha (III) Hasti Charmavat
(D) Ekakushta (IV) Paanipada Sphutanam

Choose the correct answer from the options given below.

(D) (A)-V), (B)(ID), (©)-(D), (D)-(L)
(2)  (A)-(m), (B)-(IV), (O)-(0), (D)-[0)
(3) (A1), (B)-(I), (C)-(ID), (D)-(IV)
(4) (A1), (B)-(IID), (O)-(1V), (D)-(IT)

Options :

4795482233. 1
4795482234.2
4795482235. 3
4795482236. 4

Question Number : 79 Question Id : 479548559 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



D) Th$HI (IV) drforTe TpeTy
firer Rt & =t 3 gfm

(1) (A)-IV), (B)-(I), (C)-(1), (D)~(1M)

(2)  (A)-(I), (B)-(IV), (O)-(IT), (D)-(T)
(3)  (A)-), B)-(1), (O-), (D)-(IV)
(4) (A1), (B)-(II), (C)-(1V), (D)-(TI)
Options :

4795482233. 1
4795482234.2
4795482235. 3
4795482236. 4

Question Number : 80 Question Id : 479548560 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-IL

List-1 List-1I
(Layers of skin) (Disease)
(A) Avabhasini (I)  Arsas
(B) Mamsadhara (II) Sidhma
(€) Rohini (III) Visarpa
(D) Vedini (IV) Sleepada

Choose the correct answer from the options given below.
(1) (A)-1D), (B)-(1), (O)-1V), (D)-(IL)

(2) (A0, (B)-(I), (O, (D)-(IV)
(3 (A)-D), (B)-(I), (O, (D)-(IV)
(4)  (A)-IV), (B)-(ID), (O)-(1I), (D)-{1)
rosarossr

4795482238.2

4795482239. 3
4795482240. 4

Question Number : 80 Question Id : 479548560 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( I oy
(B) () feem
(C) Tfeoft (1) fered
(D) =fefH (V) wefiag
= faepedt & @t s gfm)

(1) (A)-1D), (B)-(1D), (O-1V), (D)~

(2)  (A)-(1), (B)-(II), (O)-(11I), (D)-(IV)

(3)  (A)-(ID), ( )-(D), (©)- (IH) (D)-(IV)

(4)  (A)-(IV), (B)-(I1I), (O)-I), (D)-()

Options :

4795482237. 1
4795482238.2
4795482239. 3
4795482240. 4

Question Number : 81 Question Id : 479548561 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements.

According to Vagbhata

Statement I : “Shaddharana Churna’ is indicated in the treatment of ‘Amasayagata Vata'.
Statement II : “Shaddharana Churna’ is indicated in the treatment of ‘Urusthambha’.

In the light of the above statements, choose the correct answer from the options given below.
(1)
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true

Options :

4795482241. 1
4795482242. 2
4795482243. 3
4795482244. 4

Both Statement I and Statement II are true

Question Number : 81 Question Id : 479548561 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fr g em £

amug%:qgw:

FHY [ : TS OT ShT TN IHTSETG arq i fafrear & S S 2|
HF 11 : TSR0 901 I Sooi@ Seear o ITOR # foham STt 2|
ST Y o el # e foskedt & @t 3w g

(1) @9A 1 3 %A 11 g1 T 2

(2) WA I 3R FH 11 A1 379 B

(3) Y I T & 9g YA 11 318 2

(4) HYF I IHA 2 UFd H 11 T 2

Options :

4795482241. 1
4795482242. 2
4795482243. 3
4795482244, 4

Question Number : 82 Question Id : 479548562 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : “Yadyanena Sa Doshatwat Karmana Naprasamyati’
Reason (R) : ‘Karmano Avisuddhatwat Vayu Na Prasamyati’

In the light of the above statements, choose the most appropriate answer from the options given

below.

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3)  (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

4795482245. 1
4795482246. 2
4795482247. 3
4795482248. 4

Question Number : 82 Question Id : 479548562 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Hrer g afieked, ®eF (A) 991 FR (R) femm w2

AfrpgT (A) :  IEHT HENeETd HHOM T e

FI (R) : ELBlINEN HEIERCIR Rl

ST HYF o el d = foepedt @ watfiss sfaa 3w gfiw
(1) (A) @ (R) 341 &1 2 3R (R), (A) 1 &2 == 2
(2) (A) 3 (R) 3F A 2 T (R), (A) F T e TH
(3) (A) W& 2 W=g (R) T 2

(4) (A) w& 7 & 7q (R) ¥ B

Options :



4795482245. 1
4795482246. 2
4795482247. 3
4795482248. 4

Question Number : 83 Question Id : 479548563 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Sushruta, ‘Shirobasti Dharana Kala” in healthy person is
(1) 8,000 Matra kala

(2) 6,000 Matra kala

(3) 10,000 Matra kala

(4) 1,000 Matra kala

Options :

4795482249. 1
4795482250.2
4795482251. 3
4795482252. 4

Question Number : 83 Question Id : 479548563 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gYd & ATHR TRy Afrq A FRERqen Ha |
(1) 8,000 | e

(2) 6,000 HET I

(3) 10,000 AT HTA

(4) 1,000 HTET e

Options :

4795482249. 1
4795482250. 2
4795482251. 3
4795482252. 4

Question Number : 84 Question Id : 479548564 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-I with List-1L

List-I List-11

(Sneha) (Karma)
(A) Taila () Asthnam Balakrit
(B) Majja (II)  Pourushopachayam
(€) Vasa (III) Ojasam hitam
(D) Ghrita (IV) Twachyam

Choose the correct answer from the options given below.
(1) (A)-(1), (B)}-(II), (O)-1V), (D)-(II)

(2)  (A)-1I), (B)-(D), (O)-1I), (D)-(IV)
(3)  (A)-(IV), (B)-(I), (O)-(II), (D)~(III)
(4)  (A)-(ID, (B)-(IV), (O-1), (D)-(II)
Options :

4795482253. 1
4795482254.2



4795482255.3
4795482256. 4

Question Number : 84 Question Id : 479548564 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 & gEh-11 & gafera Fifem)

gA-1 -1
(¥48) (®H)
(A) d= () 3wl 9 Fad
(B) HSSm () Sy
(C) & (1) A faaq
(D) =d (V) =4
= foshen @ @t sm gfu
(1) (A)-D), (B)-(ID), (O-(IV), (D)-(IIT)
(2)  (A)-(D), (B)-(D), (O)-(I), (D)-(IV)
(3)  (A)-IV), (B)-(I), (O~1D), (D)-(IIT)
(4) (A1), (B)-(IV), (O)-(I), (D)-(IT)
Options :

4795482253. 1
4795482254.2
4795482255. 3
4795482256. 4

Question Number : 85 Question Id : 479548565 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

According to Charaka,

Assertion (A) : Rooksha Sweda is indicated in Amasayagata Vata

Reason (R) : Amasaya is Kapha sthan, and hence Rooksha sweda is indicated in Amasayagata
Vata

In the light of the above statements, choose the most appropriate answer from the options given

below.

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

4795482257. 1
4795482258.2
4795482259. 3
4795482260. 4

Question Number : 85 Question Id : 479548565 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fr=r gt e, afieem (A) 9 SRW (R) o ™ 2| 9% % IEN
AFHIA (A) : T W B TAN JWEEAG 919 i oo # e 7
FROT (R) : I FHEAH 2 THT SHTIEHIGETTH B 1 oo 2l
SHIFT B o 3 7 = fopedt @ watfss sfaa s gfiw)

(1) (A) @ (R) 41 €& @ 941 (R), (A) =l 981 ==& 2|

(2) (A) 991 (R) F1 ¥& & 91 (R), (A) S T2 = 74 2|

(3) (A) ¥ & wg (R) & T @

(4) (A) ¥ 2 g (R) & 2

Options :

4795482257. 1
4795482258. 2
4795482259. 3
4795482260. 4

Question Number : 86 Question Id : 479548566 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following condition (disease) is NOT advised under “Natisnigdham Virechayet” ?
(1) Visarpa

(2) Kushtha

(3) Kamala
(4) Pandu
Options :

4795482261. 1
4795482262. 2
4795482263. 3
4795482264. 4

Question Number : 86 Question Id : 479548566 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
freafafaa # @ s sfa “wfaferae fTea’” 4 abfa 52 27
(1) foed

(2) 3%

(3) hTHAT

(4) Uvg
Options :

4795482261. 1
4795482262. 2
4795482263. 3
4795482264. 4

Question Number : 87 Question Id : 479548567 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : According to Charaka, Anuvasan Basti should not be given in patients suffering
with “‘Pandu roga’.

Reason (R) : According to Charaka, Anuvasan Basti given to the patient suffering with Pandu
roga leads to Udara Roga.

In the light of the above statements, choose the correct answer from the options given below.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A) is false but (R) is true

Options :

4795482265. 1
4795482266. 2
4795482267. 3
4795482268. 4

Question Number : 87 Question Id : 479548567 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fr= @ waa fou Mo 21 uE A AfeRe (A) @O gEL 1 HWON (R) & AWifeRd foRar R R
ARMBYT (A) : W F FFEAR 95 W1 G Nfeq T #§ sgamE afed T8 o =y

FR (R) : ek o SHER gl & difeq w01 § Srames afed ¢ W 3 U #I 3af Bt 2
IulieR el w1 ek § e fasedt & waifies sfaa sw g

(1) (A) T (R) 341 =& 8 71 (R), (A) T @& =me=r 2

(2) (A) @1 (R) g1 @@ 2 1 (R), (A) 6 g& =men T4 2|

(3) (A) ¥F & Wg (R) T 2

(4) (A) Ted 2 TG (R) 9T B

Options :

4795482265. 1
4795482266. 2
4795482267. 3
4795482268. 4

Question Number : 88 Question Id : 479548568 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to Charak Samhita, Siddhi sthana shirovirechana is indicated in which of the following ?
(A) Apatanaka

B) Apatantraka

(C) Vakgraha

(D) Murchchita

Choose the most appropriate answer from the options given below.

—

(1) (A) ®B), (C )OfllY
(2)  (B), (©), (D) Onl

(3) (D) (A), (B) Onl

(4) (O, (D), (A) Onl
Options :

4795482269. 1
4795482270. 2
4795482271.3
4795482272. 4

Question Number : 88 Question Id : 479548568 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= Hieal fafgram sgen Rrifatem fe 4 @ frem frefm 27

(A) SIIAEH
(B) 3{UaTh
(C) dr%IE
(D) Hf=&d
e faeredt @ watfss 3@ I ghv)

(1) e (A), (B), (©
(2) &= (B), (O), (D)
(3) e (D), (

(4) & (), (D), (A)

Options :

4795482269. 1
4795482270. 2
4795482271. 3
4795482272. 4

Question Number : 89 Question Id : 479548569 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Sushruta Kvathapramana in Uttar Basti for Garbhashaya Shudhi in stree is :
(1) 1 Pala

(2) 1 Prakuncha

(3) 1 Prasruta

(4) 2 Prasruta

Options :

4795482273. 1
4795482274.2
4795482275. 3
4795482276. 4



Question Number : 89 Question Id : 479548569 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gyauaar fe= & nufvE yig & fore s afeq e w20
(1) 19
(2) 19%a
(3) 19ga
(4) 29gad

Options :

4795482273. 1

4795482274.2

4795482275.3
4795482276. 4

Question Number : 90 Question Id : 479548570 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Sushruta, Basti with Aragwadhadhi Kvatha is advised for :
(1) Vata Dosha

(2) Pitta Dosha

(3) Kapha Dosha

(4) Rakta Dushti

Options :

4795482277. 1
4795482278.2
4795482279. 3
4795482280. 4

Question Number : 90 Question Id : 479548570 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gYd TAHER TG Fangged Stea fohaes foe e feen 27
(1) ard g
(2) fo=gw
(3) *F AW
(4) e

Options :

4795482277. 1
4795482278.2
4795482279. 3
4795482280. 4

Question Number : 91 Question Id : 479548571 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is the site of Siravedha in ‘Kroshtukashirsha’ as per Sushruta ?
(1) On Janu Sandhi
(2) Four Anguli above Janu Sandhi
(3) Four Anguli above Gulpha

4)  Four Anguli below Janu Sandhi



Options :

4795482281. 1
4795482282.2
4795482283. 3
4795482284. 4

Question Number : 91 Question Id : 479548571 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gya waEn gy § fefafgs § @ fra wom w ey w6 % fog e 27
(1) W& ®

(2) SERY % TR A IR

(3) TEH | W YA IR

(4) SHEY % =R A A=

Options :

4795482281. 1
4795482282.2
4795482283. 3
4795482284. 4

Question Number : 92 Question Id : 479548572 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Sushruta, “Shirodukha” (RRIg:@) is the feature of :
(1) Karnarsh
(2) Netrarsh
(3) Nasaarsh
(4) Ostharsh

Options :

4795482285. 1
4795482286. 2
4795482287. 3
4795482288. 4

Question Number : 92 Question Id : 479548572 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TYd % PR ‘Rrigw’ aww ? -

(1) oI =l

(2) =T A

(3) T

(4) 3ATSSTE I
Options :

4795482285. 1
4795482286. 2
4795482287. 3
4795482288. 4

Question Number : 93 Question Id : 479548573 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A) ‘Uttpishta” is characterised by swelling in both side of joint and pain
B

R

‘Atikshipta’ is characterised by one of the bone is displaced obliquely and severe pain

O

“Vishlishta’ is characterised by mild swelling, continuous pain and deformity

=

(
(
(
( “Vivartika” is characterised by lateral displacement, unevenness in the part along with pain
(E) “Avakshipta’ is characterised by separation of joint with severe pain

Choose the correct answer from the options given below.

(1) (A), (C) are incorrect

(2) Only (B) is incorrect

(3) (D), (E) are incorrect

(4) Only (C) is incorrect

Options :

4795482289. 1
4795482290. 2
4795482291. 3
4795482292. 4

Question Number : 93 Question Id : 479548573 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(A) ‘S’ & |fe % A1 awd § Wy @ I A& Far 2

(B) ‘wifaferca’ # uw wifeyr 1 we wred & A don i dg weor B 1

() ‘fafeere’ § sreasme, fre Sem wa gfyr faspfa @eor @ 21

(D) ‘faafda’ & wfr s wom & weh awd # o, faweiar ug SeAr @ @ 2|
(B) ‘orafered’ # wfr w1 favew w digr dg @awn B 2

fier bt & T I 3R
(1) (A), (© T 2

(2) <hael (B) Terd B

(3) (D), (E) T &I

(4) ad (C) T 2
Options :

4795482289. 1
4795482290. 2
4795482291. 3
4795482292. 4

Question Number : 94 Question Id : 479548574 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-II.
List-1 List-1I
(Yantra) (Uses)
(A) Swastika Yantra (
(B) Nadi Yantra (II) Snayugata Shalya
(€) Tala Yantra (III) Asthigata Shalya
( (

D) SandanshaYantra

I) Nasagat Shalya

IV) Srotogata Shalya
Choose the correct answer from the options given below.
(1) (A)(D), (B)-(1I), (C)-(III), (D)-(IV)
(2 (A)-QV), ( )-(111), (C)-(1), (D)-(I)
(3) (A1), (B)-1V), (O-O), (D)-(1)
(4) (A1), (B)-(1), (O)-1V), (D)-(IL)

Options :

4795482293. 1
4795482294. 2
4795482295. 3
4795482296. 4

Question Number : 94 Question Id : 479548574 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

get-1 & gE-11 & gafoa Sifsm

-1 g -11

(F9) (w=tT)
(A) wfes a3 () TG e
(B) TSl = () *FTq e
(C) da I () =Ifeerma sre
(D) dew 93 (IV) =rara wied
= fasen @ wdt 3 9w
(1) (A1), (B)-II), (O)-1I), (D)-(IV)
(2)  (A)-1V), (B)-(1D), (O)-), (D)-(II)
(3)  (A)-(I), (B)-(IV), (O)-), (D)-(II)
(4)  (A)-(D), B)-([), (O)-1V), (D)~

Options :

4795482293. 1
4795482294.2
4795482295. 3
4795482296. 4

Question Number : 95 Question Id : 479548575 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-II. According to Sushruta :

List-1 List-II
(Shalya stithi) (Clinical features)
(A) Dhamanigata (I)  Raktavarodh
(B) Siragata (II)  Excessive swelling
(C) Mansagata (III) Frothy blood comes out
(D) Asthigata (IV) Various types of pain and shopha

Choose the correct answer from the options given below.
(1) (A)-1V), (B)-(IL), (O)-I), (D)-I)

(2) (A1), (B)-(D), (O-1D), (D)-(IV)
(3)  (A)-D), (B)-(D), (O-1V), (D)-O)
(4) (A1), (B)}-(IV), (O)-1D), (D)-(IL)
osaso |

4795482298. 2

4795482299. 3
4795482300. 4

Question Number : 95 Question Id : 479548575 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gYd & ATER -1 S gHA-11 § gukra hifre :

-1 -1
(wem & feufa) (Teor)
(A) ourTd 1) TEEUY
(B) Torm (I) =6 61 A gfg
(C) HrETd (1) 4 Joa T 1
(D) srfeorma (IV) fafas R 1 95T Tg 3%
=1 foeredi @ |t ST w1 =99 il
(1) (A)-(IV), (B)-(I1D), (C)-(T), (D)-(T)
(2)  (A)-(I), (B)-(T), (C)-(II), (D)-(IV)
(3)  (A)-(I), (B)-(I1), (O)-(IV), (D)-(T)
(4)  (A)-(D), B)-(IV), (O-(1D), (D)-(IIT)
Options :

4795482297. 1
4795482298. 2
4795482299. 3
4795482300. 4

Question Number : 96 Question Id : 479548576 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to Sushruta, types of Kandabhagna are :

(1) 6
(2) 8
3) 10
4) 12
Options :

4795482301. 1
4795482302. 2
4795482303. 3
4795482304. 4

Question Number : 96 Question Id : 479548576 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GYAHEN HUSHH & THH & :
(1) 6
(2) 8
(3) 10
(4) 12
Options :

4795482301. 1
4795482302. 2
4795482303. 3
4795482304. 4

Question Number : 97 Question Id : 479548577 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Most common site of Carcinoma of Breast is :
(1) Upper inner quadrant

(2) Upper outer quadrant

(3) Lower inner quadrant

(4) Lower outer quadrant

Options :

4795482305. 1
4795482306. 2
4795482307. 3
4795482308. 4

Question Number : 97 Question Id : 479548577 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSI H TIE TIH 2 :

(1)
(2)
(3)
(4)

Options :

FW F: TIGAW
FH e AT
= o= =gt
= s =gty

4795482305. 1
4795482306. 2
4795482307. 3



4795482308. 4

Question Number : 98 Question Id : 479548578 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Direct Inguinal Hernia is more common in older men.

Reason (R) : In older men deep inguinal ring is wide.

In the light of the above statements, choose the correct answer from the options given below.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

Options :

4795482309. 1
4795482310. 2
4795482311. 3
4795482312. 4

Question Number : 98 Question Id : 479548578 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IfReA (A) T4 HRUN (R) & Aifha T & e fog 7 &
AUHIA (A) : ST F7aTEAS BT SACIR g &1 H 91 Sal 2l
FW (R) : Fg To0 # 9 s7amsAe 47 =G B S 2

3UUed el o 3Telieh H e foredi @ @&l 3T w1 ==m dhifom)
(1) (A) @ (R) GHI & € 3 (R), (A) 1 T =0 2|

(2) (A) T (R) THI & & T (R), (A) i F& == 74 2
(3) (A) T 8 g (R) 9 2l

(4) (A) 38 2 W, (R) FF B

Options :

4795482309. 1
4795482310. 2
4795482311. 3
4795482312. 4

Question Number : 99 Question Id : 479548579 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Cullen’s sign, is the feature of :

(1) Acute Cholecystitis

(2) Acute Appendicitis

(3) Acute Pancreatitis

(4) Acute Nephritis

Options :

4795482313. 1
4795482314.2
4795482315. 3
4795482316. 4



Question Number : 99 Question Id : 479548579 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FoH @154 (Cullen’s sign) &I BT 2

(1) s foemerr sy
(2) e SUgeh ge T
(3) s ST My
(4) g M
Options :
4795482313. 1

4795482314.2
4795482315.3
4795482316. 4

Question Number : 100 Question Id : 479548580 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

(A) In Boa's sign - there is tenderness in Right Hypochondriac Region

(B) Murphy’s Traid is present in Acute Appendicitis

(C) In Grey Turner sign there is Discolouration in the flank and is seen in Acute Haemorrhagic
Pancreatitis

(D) In Murphy’s sign, there is Hyperaesthesia between 9th and 11t rib posterior on right side
Choose the most appropriate answer from the options given below.

(1) (A) (B) Only

2) (B, (©) Only
(3) (©), (D) Onl

4 (A) D) Only

Options :

4795482317. 1
4795482318.2
4795482319. 3
4795482320. 4

Question Number : 100 Question Id : 479548580 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(A) SIATE T3 | TS Fhirgieh ° dretid fiern 2|

(B) WIH RIS - o 3Ugh To5 WY H e 2

(C) ¥R ara® awd § foaolar & st @ St fier 2sfier smmer sity 1 weor 2|

(D) ES @ree # i T geEmn # oth 3w 11th gt % e vt srmmar ferdt 2
e faepedt & waffie sfaa s @fvm)

(1) 9 (A), (B)

(2) = (B), (C)
(3) = (), (D)
(4) = (A), (D)
Options :

4795482317. 1



4795482318. 2
4795482319. 3
4795482320. 4

Question Number : 101 Question Id : 479548581 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements.

Statement I :  Histopathologically Rodent Ulcer are squamous cell carcinoma.
Statement II : In Rodent Ulcer regional lymph nodes are not enlarged and there will be no
metastasis.

In the light of the above statements, choose the correct answer from the options given below.
(1

) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
)

(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II is true
Options :

4795482321. 1
4795482322.2
4795482323. 3
4795482324. 4

Question Number : 101 Question Id : 479548581 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fagsmfami.

Fo 1 : Hiees = SHuR Te= ok hud Oe HIRIAMT gl 2|

HYA 11 : U2 fout # T ofie o wofaa 2 &t & o son deeefam =& & 2
STad AT o IhR H = fashedt @ @dt 3@ g

(1) % I a1 %9 11 241 a8 8

(2) HF 19 HIA I gEI TAd &

(3) YA 1 T 9oq HUA I 39F 3

(4) HYF 1 6T W HeH 11 97 2

Options :

4795482321. 1
4795482322. 2
4795482323. 3
4795482324. 4

Question Number : 102 Question Id : 479548582 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Acharya Sushruta, painless pidikas are found in Ostha Prakopa.
(1) Vataja

(2) Pittaja

(3) Kaphaja

(4) Raktaja

Options :

4795482325. 1
4795482326.2
4795482327. 3



4795482328. 4

Question Number : 102 Question Id : 479548582 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gyaqan, fenfd fifgwd _ 3iss g & wiE St 3
(1) e

(2) foaw

(3) W

(4) T

Options :

4795482325. 1
4795482326.2
4795482327. 3
4795482328. 4

Question Number : 103 Question Id : 479548583 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-I with List-II.
List-I List-II
(A) Mutton fat KP's (Keratic Precipitates) (I)  Fuch’sheterochromic iridocyclitis herpetic Iritis
and CMV Retinitis
(B) Small and Medium KP’s (I)  Granulomatous iridocyclitis and are composed
of epithelioid cells and Macrophages
(€) Fine KP's (IT) Nongranulomatous uveitis and are
composed of lymphocytes
(D) Old KP’s (IV) Sign of healed uveitis and usually have ground
glass appearance due to hyalinization
Choose the correct answer from the options given below.
(1) (A1), (B)-1D), (©)-(, (D)-(IV)
(2)  (A)-a1), (B)-1V), (O-1), (D)-(1)
(3) (A, (B)(D), (O-(V), (D)-(1)
(4) (A1), B)-Q1), (©)-V), (D)-()

Options :

4795482329. 1
4795482330. 2
4795482331. 3
4795482332. 4

Question Number : 103 Question Id : 479548583 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



get-1 &1 gEh-11 @ fiem $ifsm)
-1 -1

(A) Wea 9a1 Rfew @y () wEFE fauart sTREsEEaRies gl seusien vd Hiugdr
femsfem

(B) I U9 Heay Hifesh @ad () IJciHed AEUsSHsaased U Tdefiefiae shifsmehel] v Hehad
q 1 B B

(C) Wigd (WEH) Hfea e (1) AH-Igciiey gfassion ud sad fompiamed 2 2

(D) TR Hifesh a8y (IV) ¥ gies foarsied 1 T8Vl 3 Ud BATEASeH % BRI T3S ™
% T o 2|

=1 fasren @ @&t s g .

(1) (A)-(10), (B)-(m), (©)-(1), (D)-(1V)
(2) (A1), (B)-(IV), (O)-(0), (D)-(II)
(3)  (A)-(II), (B)-(D), (C)-(IV), (D)-(II)
(4) (A1), B)-1), ©)-1V), (D)-[0)

Options :

4795482329. 1
4795482330. 2
4795482331. 3
4795482332. 4

Question Number : 104 Question Id : 479548584 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Depending upon the location, Scleral Staphylomas may be intercalary, ciliary,
equatorial and posterior

Reason (R) : Staphyloma is a thinned out bulging area of sclera which is lined by the uveal
tissue

In the light of the above statements, choose the most appropriate answer from the options given

below.

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

4795482333. 1
4795482334. 2
4795482335. 3
4795482336. 4

Question Number : 104 Question Id : 479548584 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



MY (A) q HWOT (R) & Twifeha = a1 wom fow mw #|

AfUFAT (A) :  THIT HLHRAH o TAFHAR T8 72T heldl, Hiferadt, sepeiferer va mifeefer & gehar 2|
FROT (R) : LHEAT Ther FI T g3 I &7 2, ed gfowe so g swaw e gan w2
SIS HeF % e § f faeedt @ gaffes sfua s gfm

(1) (A) @ (R) 3F1 621 2 @1 (R), (A) i H& =me 2|

(2) (A) 91 (R) 3F1 @&l & 91 (R), (A) 1 G&l = 2|

(3) (A) @&l 8 W (R) W&l 72 2l

(4) (A) 5él &l & 9%g (R) @& 2|

Options :

4795482333. 1
4795482334. 2
4795482335. 3
4795482336. 4

Question Number : 105 Question Id : 479548585 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is NOT Intracranial complication of Otitis Media ?
(1) Extradural Abscess

(2) Bezold Abscess

(3) Subdural Abscess

(4) Meningitis

Options :

4795482337. 1
4795482338.2
4795482339. 3
4795482340. 4

Question Number : 105 Question Id : 479548585 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 4 9 19 91 sersfey Hifsar = ofcgsea 3uzg 98 27
(1) v fagi

(2) dfires fagfy
(3) WIS fagfy
(4) TfeashEToT Y
Options :

4795482337. 1
4795482338. 2
4795482339. 3
4795482340. 4

Question Number : 106 Question Id : 479548586 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements.

Statement I :  Lekhana Anjana by virtue of its Ojas eliminates the doshas from channels of
Eyelids (Netrashira), Netrakosha (Conjunctival Sac) and Shringataka Marma.

Statement II :  According to sushruta, Lekhana anjana is to be prepared from drugs of all five
rasas except Madhura rasa.

In the light of the above statements, choose the correct answer from the options given below.

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

3)

(4) Statement I is incorrect but Statement II is true

Options :

4795482341. 1
4795482342. 2
4795482343. 3
4795482344. 4

Statement I is correct but Statement 1II is false

Question Number : 106 Question Id : 479548586 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 21 s fog o 2

H [ TG 35 9 IS oh gI0 43 Ied T8, hisT o @Id, T 5Teeh 91 § 113 gl o1 aravr (Freehra)
T 2l

FF 11 : GYAHER @ 399 HEL W i DTeH 9 IE W § IFq A= gRI S=E S 2|

ST HYF & Tk # = fawedt @ @@ s @ w5 Fifsw

(1) e I a1 o 11 g1 g&t &

(2) YA I a9 YA 11 g1 T 2

(3) e 198 & W % 11 TTerd 2

(4) Y 1 7Ed g Tg 9 11 T 2

Options :

4795482341. 1
4795482342.2
4795482343. 3
4795482344. 4

Question Number : 107 Question Id : 479548587 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Acharya Sushruta, which disease will manifest if individuals takes cold things after
Shirovirechana Karma ?

(1) Karnanada

(2) Karna Srava

(3) Badhirya

(4) Karnakshweda

Options :

4795482345. 1
4795482346. 2
4795482347. 3
4795482348. 4



Question Number : 107 Question Id : 479548587 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gYaaR afs s safea Rifei=r o vard sfiq go &1 Go= G 2, dt shia a1 T 2ar 27
(1) =RUHATE

(2) wHUETE
(3) =feR
(1) i
Options :

4795482345. 1
4795482346. 2
4795482347. 3
4795482348. 4

Question Number : 108 Question Id : 479548588 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : The Little’s area or Kiesselbach’s plexus is the site for origin of the “Bleeding
polypus” (Haemangioma) of Nasal septum.

Reason (R) : The Little’s area or Kiesselbach's plexus is the vascular area in the inferior part of
the nasal septum just below the vestibule.

In the light of the above statements, choose the most appropriate answer from the options given

below.

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

4795482349. 1
4795482350. 2
4795482351. 3
4795482352. 4

Question Number : 108 Question Id : 479548588 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT (A) T HRO (R) & THifeha = g e fog Ry
Afrhea (A) : fofecd & s1ean Sooead Ffrag Ta ded § s o (feasfEm) &1 sgasam 2

FR (R) : T80 & Teq & ot G 7 foecues s wucess wifrg, T dfesgs % then =
WATTH &7 2|

IHIE YA & fore = [epedi @ gaffess 3fea 3w gfu)

(1) (A) @ (R) 391 &l @ a1 (R), (A) I H& =re 2|
(2) (A) T (R) 341 @& 2 W (R), (A) FT T =Fwen T 2
(3) (A) ¥ ? T (R) T T 2

(4) (A) 98 7€ & g (R) ¥A 2

Options :




4795482349. 1
4795482350. 2
4795482351. 3
4795482352. 4

Question Number : 109 Question Id : 479548589 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“Kunitam daruna rukshavartma” is the clinical feature found in
(1) Sashopha akshipaka
(2) Ashopha akshipaka
(3) Shushka akshipaka
(4) Hatadimantha

Options :

4795482353. 1
4795482354.2
4795482355. 3
4795482356. 4

Question Number : 109 Question Id : 479548589 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘it gEw wEe T H AE R
(1) @ sifamme

(2) T srfa

(3) YT

(4) EaTEy

Options :

4795482353. 1
4795482354.2
4795482355. 3
4795482356. 4

Question Number : 110 Question Id : 479548590 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to Acharya Sushruta, which dosha is vitiated in Nasapratinaha ?
(1) Kapha vrutta Samana-Vayu
(2) Kapha vrutta Udana-Vayu
(3) Kapha vrutta Apana-Vayu
(4) Kapha vrutta Prana-Vayu

Options :

4795482357. 1
4795482358.2
4795482359. 3
4795482360. 4

Question Number : 110 Question Id : 479548590 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR, TR § 9 8 3 oft AR 27
(1) T TR 1Y
(2) FHT 3T A
(3) FH ST
(4) T T

Options :

4795482357. 1
4795482358.2
4795482359. 3
4795482360. 4

Question Number : 111 Question Id : 479548591 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the type of “Shirashula” in which headache is more during night.
(1) Vataja

(2) Pittaja

(3) Kaphaja

(4) Sannipattaja

Options :

4795482361. 1
4795482362.2
4795482363. 3
4795482364. 4

Question Number : 111 Question Id : 479548591 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fore yepr o Ty’ @ fee ufy § e g 27

(1) drad

(2) faas

(3) HHI

(4) gf=amas
Options :

4795482361. 1
4795482362. 2
4795482363. 3
4795482364. 4

Question Number : 112 Question Id : 479548592 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is NOT a type of study design ?
(1) Cohort study
(2) Case-control study
(3) Cross-over study design
(4) Pilot study

Options :

4795482365. 1
4795482366. 2
4795482367. 3



4795482368. 4

Question Number : 112 Question Id : 479548592 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 9 99 91 wEifessT w1 YR T8 27
(1) g =&
(2) W HA WS
(3) I 3R W= feamea e =
(4) U W

Options :

4795482365. 1

4795482366. 2

4795482367. 3
4795482368. 4

Question Number : 113 Question Id : 479548593 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
In which type of population is a phase-I vaccine trial conducted ?
(1)
(2) High risk group
(3)

(4) Laboratory animals

Healthy volunteers

Diseased population

Options :

4795482369. 1
4795482370. 2
4795482371. 3
4795482372. 4

Question Number : 113 Question Id : 479548593 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fore TR it SEEET ° =1 % b o1 aReror feRar S 27
(1) zodl S

(2) @ e o

(3) fetiss ugerem

(4) IRl wHivew

Options :

4795482369. 1
4795482370.2
4795482371. 3
4795482372. 4

Question Number : 114 Question Id : 479548594 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Post-marketing surveillance is done in which of clinical trial phase ?
(1) Phase -1

(2) Phase-1I

(3) Phase - III

(4) Phase - IV

Options :

4795482373. 1
4795482374.2
4795482375. 3
4795482376. 4

Question Number : 114 Question Id : 479548594 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ui ekl didend fore foafena = | forn Smar 27

(1) =1 -1
(2) =W -1
(3) = - 1III
(4) =W -1V

Options :

4795482373. 1
4795482374. 2
4795482375.3
4795482376. 4

Question Number : 115 Question Id : 479548595 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The age of ten pregnant women who visited an ANC clinic is given, below what is the mean age of
this group ?

(26, 31, 25, 26, 30, 27, 25, 32, 25 and 33 years)
(1) 45

(2) 28

(3) 25

(4) 32
Options :

4795482377. 1
4795482378.2
4795482379. 3
4795482380. 4

Question Number : 115 Question Id : 479548595 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ANC (udh) forefies & o areft gg mfadt afzensii $i 39 2 78 2 39 TR H mean (3f@q) g =
27

(26, 31, 25, 26, 30, 27, 25, 32, 25 3N 33 1Y)
(1) 45
2) 28
3) 25
(4) 32
Options :

4795482377. 1
4795482378.2
4795482379. 3
4795482380. 4

Question Number : 116 Question Id : 479548596 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following kits developed by All India Institute of Ayurveda, New Delhi found a place
in popular TV Quiz show Kaun Banega Crorepati ?

(1) Swasthya Raksha Kit

(2) Bala Raksha Kit

(3) Ayur Raksha Kit

(4) Swarna Bindu Rasayana Kit

Options :

4795482381. 1
4795482382.2
4795482383. 3
4795482384. 4

Question Number : 116 Question Id : 479548596 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT TV TG GRTaTgsd i a4 wigadt § ifiger ydE smgag gwom 78 foeett g fowfim
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(1) T & fohe

(2) @re e fohe

(3) ST & fohe
(4) ¥l fog W fhe
Options :

4795482381. 1
4795482382.2
4795482383. 3
4795482384. 4

Question Number : 117 Question Id : 479548597 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following schemes covers the Establishment of Ayush Super Speciality Hospital / Day
Care Centres for Medical Tourism ?

(1) AOGUSY Scheme
(2) Champion Service Sector Scheme
(3) Ayurgyan Scheme

(4) Ayurswasthya Yojana

Options :

4795482385. 1
4795482386. 2
4795482387. 3
4795482388. 4

Question Number : 117 Question Id : 479548597 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) AOGUSY FreH1
(2) e afegw & F

(3) ATHH ISl
(4) SRRy AT

Options :

4795482385. 1
4795482386.2
4795482387. 3
4795482388. 4

Question Number : 118 Question Id : 479548598 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many Ayush Health and Wellness Centres (HWC) have been approved by Union Cabinet for
upgrading existing Ayush Dispensaries/Health Sub-centre through State/UT Governments in
centrally sponsored scheme mode and under the broad umbrella of National Ayush Mission (NAM) ?
(1) 10,000

(2) 8,500
(3) 12,500
(4) 1,250

Options :

4795482389. 1
4795482390. 2
4795482391.3
4795482392. 4

Question Number : 118 Question Id : 479548598 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) 10,000
(2) 8,500
(3) 12,500
(4) 1,250

Options :

4795482389. 1
4795482390. 2
4795482391. 3
4795482392. 4

Question Number : 119 Question Id : 479548599 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following portals was launched by Ministry of Ayush with the objective of making a
transparent system for procurement, storage and distribution of quality drugs, supplies and
equipment’s etc. with the target groups for farmers, traders, manufactures and exporters ?

(1) Triskandha Kosha

(2) e-Aushadhi portal

(3) e-Charak portal

(4) AYUSH Suraksha portal

Options :

4795482393. 1
4795482394.2
4795482395. 3
4795482396. 4

Question Number : 119 Question Id : 479548599 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yeh, =i fafmiar vk Fafaer o o smy werew 3 qorearget iy, gl suw senfe & aftg, verm
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(1) Prepy wm

(2) e-3iMet U

(3) e UIeH

(4) oY g e
Options :

4795482393. 1
4795482394. 2
4795482395. 3
4795482396. 4

Question Number : 120 Question Id : 479548600 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following portals is launched by Ministry of Ayush with the purpose of documenting
the traditional knowledge in digital format and prevention of biopiracy ?

(1) Ayush Research portal

(2) TKDL portal

(3) Dhara portal

(4) RM’s portal

Options :

4795482397. 1
4795482398. 2
4795482399. 3
4795482400. 4

Question Number : 120 Question Id : 479548600 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) oy fe dide
(2) TKDL uea
(3) oW 9

(4) RM’s 9ea
Options :

4795482397. 1
4795482398. 2
4795482399. 3
4795482400. 4



